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Write the algebraic ratio in simplest form.

sa 2xd | ECER)

Ak 4ab 2 5¢2 23. a(x +4)
10x I(x —¥) a+ 3

4, — . et o
2 5x 25 (x —y)x + ) 26 4g + 20

In Exercises 27-32, find the measure of each angle.

7. The ratio of the measures of two complementary angles is 4:5.
(Hint: Let 4x and S5x represent the measures.)

28. The ratio of the measures of two supplementary angles is 11:4.
29. The measures of the angles of a triangle are in the ratio 3:4:5.
30. The measures of the acute angles of a right triangle are in the ratio 5:7.
31. The measures of the angles of an isosceles triangle are in the ratio 3:3:4.
32. The measures of the angles of a hexagon are in the ratio 4:6:6:7:8:9.

33. The perimeter of a triangle is 96 cm and the lengths of its sides are in the
ratio 9:11:12. Find the length of each side. ‘

34. The measures of the consecutive angles of a quadrilateral are in the ratio
6:7:11:12. Find the measure of each angle, draw 2 quadrilateral that
satisfies the requirements, and explain why two sides must be parallel.

35, What is the ratio of the measure of an interior angle to the measure of an
exterior angle in a regular decagon? A regular n-gon?

36. A team’s best hitter has a lifetime batting average of .320. He has been at
bat 325 times.

a. How many hits has he made?
b. The player goes into a slump and doesn’t get any hits at all in his next
ten times at bat. Now what is his batting average 10 the nearest thou-

sandth?

C 37. A basketball player has made 24 points
out of 30 free throws. She hopes to
make all her next free throws until her
free-throw percentage is 85 or better.
How many consecutive free throws will
she have to make?

Points B and C lie on AD. 5D = &
AC _ 5 _ -
g and BD = 66. Find AC.
39. Find the ratio of x t0 - % L % = 44
12 2 _44
) X

208 / Chapter 5

The first and last terms of a proportion are called the extreme:
terms are the means. In the proportions below, the extremes are
The means are shown in black. |

ab=cd 6:9=2:3 ﬁ—g
‘ 9 i

Notice that 6* 13— 9.2, This illustrates a property of all prof
the means-extremes property of proportions: |

The product of the extremes equals the product of thcé

Z==1is eqaiuale to ad =
. nl’ — 5
O dd b(,.
[he two equations are equivalent because we can change eith

the other by multiplying (or dividing) each side by bd. Try ¢
|

It is often necessary to replace one proportion by an equ|
tion. When you do 50 in a proof, you may use the reason
proportlons." The following properties will be justified in th

J_

Properties of Proportions

:%is equivalent to:
a. ad = bc bi;ﬂ’_ c.ﬁzi 6 9
¢ d a c .
.1;‘-:£_€:.._,thena+c+e+--- _a _
d f b+d+j‘+...'b'

Example Use the proportion LS % to complete each st
iy

a, 3y =A% p 22 1t
}J 9 i
x _1 4 7 |
¢c. —=— L
3779 d. = =3 |
Solution a. 3y = 4x b, > it A
&y . ——4
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